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If a+b=>5andab =3, then (a® + b3) is equal to ?




What is the least value of x such that 517x324 is divisible by 127
x T FgAqH AT 4T § & 517x324 129 arsT 72




Anu spends 90% of her income. If her expenditure increases by 25% and savings increase by
30%, then by what percent does her salary increase?

3T AU AT HT 90% WY HIcr g1 AR 3WF @I A 25% N gef g ¥ 3k s=a
#30%aﬁraaﬁra?ﬁ% at 38 Ada A Fhae yfaed #T gefr eidr &7

1)25.5%
2)24%
3)22.5%
4)20%




A train without stoppage travels with an average speed of 65 km/h and with stoppage, it travels
with an average speed of 52 km/h. For how many minutes does the train stop on an average per hour?

9= ¥& w& ¢oT 65 fanall/aer Y 3itwg afa @ T FIEA 7 AR Tl & A1, I§ 52
frefiraer Y twa afa @ IEr w1 ST tuae i '@ e Aee F @A s 82




AABC~ AQRP and PQ.=6cm, QR =8 cm and PR =10 cm. If ar(AABC) : ar(APQR) = 1:4, then AB is
equal to:

ABC~ QRP 3iR PQ=63#HI, QR=8d#T 3R PR=10@H AT ar(AABC): ar(APQR) = 1:4, @Y
AB €TeR §:




A circle is inscribed in a quadrilateral ABCD, touching sides AB, BC CD and DA at P, Q, Rand S,
respectively. If AS= 8cm, BC=11cm, and CR=5cm, then the length AB is equal to?

UF Tqel ABCDH UF I 3HfHhd §, Y a3l AB, BC CD X DAFY %A P.Q, R S
EES F':I'% h{dl %’I gfe AS=8cm, BC=11cm,3ﬂT CR=5cm %‘, Gl 3!31? AB s{TdX %?




In AABC, AD L BC at D and AE is the bisector of £ A. If £2B=72° and £C=26°, then what is the

measure of £ZDAE?
AABCH, %w AD BC 3T AE, A®T HHGAHTS® gl IfE 2B=72° 3 2C=26°, @Y DAE®T
ATT AT 82




If 3-25in%0 - 3cosO =0, 0° < 0 < 90°, then what is the value of (2cosec + tan)?




A train x running at 84 km/h crosses another train y running at 52 km/h in opposite direction in 12 seconds. If

the length of y is two-third that of x, then what is the length of x? ’

84 faAl/Eer Y aIfd & <o Wl T oo x fauliad f&em & 52 fFsAl/eer i aifa & e W@ qudl

%Trryﬁ 12 A%z F UK FIT &1 IR y Y da1E x A a9 A O-AeE ¢, O x T d9 F740
l?




In an examination, the success to failure ratio was 5: 2. Had the number of failures been 14
more, then the success to failure ratio would have been 9: 5. The total number of candidates who

appeared for the examination was?
TH GU&T A, Ahddl ¥ FAGT FT HqUld 5: 2 47| IS @At fr q&ar 14 s

JGIE a’reﬁmm#mmmmb 5 gaTl T # doet q 3FHAIGART FY FA qEAT
ﬁ-ﬁ?ﬂ' ?




In a circle, chords AB and CD intersect each other at E. If CD=18 cm, DE=6 cm and AE = 18 cm,
then BE=?

UF gd H 4T AB 3R CDUF q@EY A EW Fedl 31 AR CD=18 @Y, DE=6 T+ 30K
AE = I3 @I, aT BE=?




In AABC, is bisectors of £B and 4C interest each other at a point D. If ZBDC = 104°, then the

measure of £ZAis ?

ABCH, B3R 2CF wHGRNTSF Ta q@Y &I fag DI sarer &A@ §1 Ife £BDC=104°F,
al ZA®T AT 87




If cosec 31° = x, then sin° 59“+;+mn ‘5 -;ISE[[HHI to:

coser 31’ sl 59 cosec’59°







The vertices A, B, C and D of a quadrilateral ABCD lie on a circle. £A is thrice £C and 4D is twice £B.
What is the difference between the measures of «B and 2C?

UF Tl ABCDF M A B, C3I DT g W fua &1 AcHT dfier @ § 3R 2D, B
Waﬁ?ﬂ%l Bﬁ?C%Wﬁwm%’?




When an article is sold for 291, there is a loss of 3%. What will be the selling price of the
article, if it is sold at a gain of 8%?

9 PI$ IEJ 291 H 9 AT § @ 3% Fr gl g T AR aFT Y 8% F AH W
9T ST 8, al 3EHT @AFT Fqeg 41 gem?




